a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

.........

0 15 20

rtex z (cm)

G(0 X) (um)

Ratio

SR
2 z-o —is —io %#Jf +T5TT10 :Ib 20

a(0 x) tor merged vertices (um)

Ratio

10°|:

0.8

4

0 =15 =10 5 0 5 10 15 20

Vertex z (cm)

__'"'—u:)i irrat
:HZSEW IMP

5 10 15 20

Vertex z (cm)

102

10:-

LIV| SEPRR
1.2F

B

Vertex z (cm)

o(0y) (um)

Ratio

0(0 z) (M)

Ratio

10%E

10 15 20
Vertex z (cm)

10°

10?

L.UD!

0¥ 7215 -10

2

-5

0

5

10 15 20
Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10?

0.95

10°E:

10° F::

................

0.9

3 1 R

N

0 =15 =10

5 0

10 15 20
Vertex z (cm)

i

e .

B
d

055215 =10

50

5 10 15 20
Vertex z (cm)



	Contents
	Page 1


